Latin Present Active Subjunctive
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ID ?RE

T? ?RE

ID POSSE

ID AM?RE

N?S ESSE

T? AM?RE

T? LEGERE

ID VENDERE

ID IUV?RE

EGO DOC?RE

T? IUV?RE

V?S LEGERE

N?S AM?RE

T? APER?RE

V?S DOC?RE

N?S APER?RE

EA (THEY N.) AM?RE
EA (THEY N.) VENDERE
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ID ESSE

EGO ESSE

N?S ?RE

EGO POSSE

V?S ESSE

ID DOC?RE

EGO AM?RE

V?S POSSE

EGO VENDERE

EGO HAB?RE

EGO IUV?RE

N?S LEGERE

T? DOC?RE

V?S IUV?RE

N?S IUV?RE

EA (THEY N.) ?RE

EA (THEY N.) LEGERE
EA (THEY N.) HAB?RE

O ITCcITIodTn T MLKKC-—X"WwmMWZ2Z4HTC

Munurm<2>»nNZOVA>MO000VEsL

NV —=CHAHA 4 =2 2m

4> mMmZ2>»>» << d42>» TMmCIZ>»rZ2

-~ 4 U< - 4=

¢ Im-—-—XZT o> X-—-—>P>U0OC<OnO<-HdmMmuwnHA
—_— < zZCcCzZzZmOunum-— 0w CCX>»OYMO
> mMmwn Vv —Z2m<VvrmM—-—0 v X Z2—
< —-C<VvVH—-—0mWUoTounncCcvdmmumcruong-—-<0
>» UTmMIU—2>Z2Z2-S0MOMCNMYA— OO

EGO ?RE

T? ESSE

V?S ?RE

T? POSSE

ID LEGERE

ID HAB?RE

EGO LEGERE

ID VEN?RE

V?S AM?RE

EGO VEN?RE

T? HAB?RE

T? VENDERE

T? VEN?RE

EGO APER?RE

V?S VEN?RE

EA (THEY N.) ESSE
EA (THEY N.) IUV?RE
EA (THEY N.) APER?RE
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